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Part one :Reading Comprehension
Directions :Read the following passage carefully .Each one.is following by
several questions about it .Choose the one best answer,«a), (b), (c), or (d )each
guestion .Then on your answer sheet, fill in the space that, corresponds to the
letter of the answer you have chosen .Base your answer to each question on the
information given in the passage only. N

Passage one:

For over fifty years, the people of Britain have relied on the Welfare State to make

sure they have adequate health services .But now, the National Health Service is sick .
Movement cutbacks and underfunding are getting longer .Under such circumstances,
it is no surprise that more people are turning to private but expensive healthcare.
For some, however, there are alternatives .They are turning their back on modem
pills, tablets and other conventional medicines .It seems paradoxical, but in an age of
microchips and high technology, traditional medicine )the old-fashioned cures that
our grandparents relied on(is. making a comeback.

111 -Some hospitals failed.to fulfill their objectives properly mainly to. ...............
a .skilled staff limitations

b .serious financial problems

c .limited patient referrals

d .lack of public.demand

112 -According to the first paragraph, some patients have chosen
privatehospitals to . ...cceceeeees

a .avoid lengthy waiting lists

b .face experienced medical staff

c .pay low hospital charges

d .benefit from advanced technology

113 -The text implies that the National Health service ............... theWelfare state.
a .has nothing to do with

b .is the older version of

c .works line with

d .is planned to eliminate

114 -The popularity of the old-fashioned therapy is rooted in . .....ccc......

a .high hospital charges

b .limitations of modem medicine

c .their sophisticated technology

d .our grandparentsinfluences
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115 -The writer seems to be ....ccceeueee the return of the old-fashionedcures.
a .categorically against b .surprised by
c .disappointed with d .a proponent of

Passage two:

The care of feet plays an important and essential part in very health and beauty

regimen .Out feet are a very sensitive barometer of our mental and physical state.
Foot discomfort is always mirrored In the face .It can create a painful, suffering
expression and even cause lines on the forehead .Most people are smart about the care
they give to their bodies, but often seem to draw a blank when it comes to the care of
their feet.

Relatively small though they are, feet perform the work of giants .Next to the heart,
the feet carry the greatest load of any part of the body .this fact is worth keeping in
mind .No other structure could bear such a top-heavy burden for so long and without
repairs as the delicate, ingeniously designed human-foot .lt is a wonder that things go
wrong as rarely as they do, considering how poorly feet are understood or cared for.

116 -According to the text, uncomfortable feet may cause . ...cccceeueeees
a .painful expressions on the face

b .dangerous heart problems

c .inflexibility of muscles

d .clumsy body movements

117 -1t is stated that most peoples.....ccceeueeeee

a .pay much attention to their feet

b .ignore to care their feet well

c .suffer from painful feet when uncared

d .value their feet as much as other organs

118 -According to the text, the heaviest load of the body falls on the. ...............
a .feetb .Heartc .Braind .joints

119 -Itis implied that feet . ...............

a .should be repaired regularly

b .are less vulnerable to injuries

c .are roughly designed

d .should be left unnoticed

120 -The beat title for the passage could be.. ...............
a .barometer of well-being

b .our feet and our health

C .problems of remaining healthy

d .feet health preferences

Passage tree:

Contrary to popular belief, some research has shown that it is easier for people to
make a comprehensive change in diet and lifestyle than to make only a moderate
change .If you make a moderate change, such as reducing fat intake from 40 percent
of calories to the reconvened guidelines of 30 percent fat, then you have worst of two
worlds .You feel deprived, hungry, and anxious because you are not eating everything
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you want and are used to, and you are not making changes substantial enough to
significantly affect your weight or to feel better .In other words, you are aware of
what you are giving up but recognize no changes that could reinforce your change in
lifestyle .In addition, most diets are too complex to follow for vary long, the food
doesn't taste good, and you feel hungry and deprived .Making a comprehensive
change in diet and lifestyle can be stressful at first because it disrupts old patterns and
habits .However, in the long-term, it is easier to maintain adherence to big changes
because they take you out of your old habits and help you form new ones.

121 -According to this reading selection, the popular belief holds that
acomprehensive change in diet and lifestyle. ......c........

a .establishes self-image drastically

b .is difficult to achieve

c .can be made more easily

d .makes us feel deprived

122 -1t is implied that the writer .......cuc.... dietand lifestyle.

a .rejects following

b .adheres to traditional habits of

C .supports moderate changes in

d .favors big changes in

123 -You have the worst of two worlds when you . ......c..c.....

a .make a moderate change

b .give up your old patterns and habits

c .turn to a comprehensive change

d .follow a diet for a long time

124 -In this reading selection, "two world "refers to the conditions of. ......ccceee..
a .physical fitness and mental attitude

b .physiological functions and social affairs

c .diet deprivation without much gain

d .old patterns and habits

125 -1t is inferred from this reading selection that overweight peopleshould

b .avoid a comprehensive dietary change for the risks involved
c .follow a comprehensive dietary change
d .prefer their present lifestyle over a comprehensive change

Passage four:

Communication is a basic human need .It lets people form and maintain
relationships through the sharing of thoughts, feelings, wants, and intentions .People
who have difficulty in communicating may therefore be excluded, accidentally or
deliberately, from the social exchanges of everyday life .This is why communication
has an important place in the curriculum of all school pupils, irrespective of their age
and ability .Nowhere is its place more important than in the curriculum of pupils who
have difficulty in learning.

Children with severe and profound learning difficulties have the same right to
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education as every other child .Their difficulties with learning present the educational
system with many challenges .Providing these pupils with experiences in the area of
communication is one of the most important challenges, because delayed or
disordered communication is a principal characteristic of sever and profound learning
difficulty.

There are pupils who have not yet reached the level of speaking in two-word
sentences .This level is reached by children when they are about two-and-a-half years
old .The first two-and-a-half years are a short period in the span of human
development, but the range of communicative competence within. them is u
considerable among pupils whit learning difficulties as a result of the wide spread of
ages, experience, physical difficulties, personalities, ‘and other individual
characteristics.

126 -According to the passage, in the same way that people need to havefood and
clothes, they . ..ccceeeneee

a .have feeling and thoughts

b .have problems and misgivings

¢ .need to go to school and study

d .need to communicate with each other

127 -1t is said that children with communication problems must be. .......cce....
a .kept isolated and educated effectively

b .taken care of by the educational system

c .sent to hospital and clinics for treatment

d .given additional facilities ta.learn

128 -1t is stated that people’'s right to education . ......ccce...

a .is independent of.their communicative abilities

b .differs from person to.person

¢ .should depend-on their communicative abilities

d .develops-as.they become more educated

129 -The underlined them )paragraph 3/line 4 (refers to . .....cceueeeee.
a .twoOand-a-half years

b .pupils with communication problems

c .learning difficulties

d .two-word sentences

130 -The lastparagraph focuses on the . ......cceeee.

a .education based on individual characteristics

b .role of early childhood in communication development

c .growth of speaking in early childhood

d .role of education in personality formation

Passage five:

Smallpox was the first widespread disease ever to be eliminated by human
intervention .In may 1966, the World Health Organization )WHO (was authorized to
initiate a global campaign to eradicate smallpox . The goal was to eliminate the disease
in one decade. More than 700 physicians, nurses, scientists, and other personnel from
WHO joined about 200,000 health workers in the infected nations to battle the
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disease .Because similar projects for malaria and yellow fever had failed, few
believed that a disease as widespread as smallpox could actually be eradicated, but
eleven years after the initial organization of the anti-smallpox campaign, no cases
were reported in the field.

The strategy that developed was to combat the disease at several levels .There was
education campaign, of course, so that the people in the threatened countries could be
taught more about how the disease spread and become active participants in the fight
against smallpox .Other strategies included not only providing mass vaccinations but
also isolating patients with active smallpox in order to contain the spread of the
disease, thus breaking the chain of human transmission. .Monetary rewards for
reporting smallpox assisted in motivating the public to aid health workers .One by
one, each smallpox victim was sought out, removed from contact with others, and
treated .At the same time, the village where the victims had lived was vaccinated.

By April of 1975, WHO officials announced that they had i1solated the last known
case of the disease, but health workers continued-to search for new cases for two
additional years to be completely sure .In may 1980, a formal statement was made to
the global community .Today, smallpox is no.longer a threat to humanity and routine
vaccinations have been stopped worldwide:

131 -The best title for the passage could be. ...............

a .world health organizationb .eradication of smallpox

¢ .smallpox vaccinationsd .infections diseases

132 -How was the public motivated to help health workers?
a .by treating them

b .by financially supporting them

c .by isolating them.from others

d .by giving them proper vaccines

133 -According to the passage, part of what was done to eliminate thespread of
smallpoX Was.. .ceeeeecenes

a .teaching nurses about smallpox

b .treatment of individual victims

c .isolation of victims and mass vaccinations

d .extensive reporting of outbreaks by health workers

134 -1t can be inferred from the passage that................

a .no new cases of smallpox have been reported this year

b .malaria and yellow fever have been reported this year

¢ .smallpox victims no longer die when they contract the disease
d .smallpox is not going to be an epidemic again

135 -At the beginning of the campaign against smallpox, most expectedthat the
project would.......cceeeee.

a .be as ineffective as the ones on malaria and yellow fever

b .be a total achievement in a short period of time

c .last more that the expected time period

d .demand little field work in the infected areas
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Part Two :Vocabulary

Directions :The following are incomplete sentences .Below each one are four
words, or phrases marked (a), (b), (c), or (d) .Choose the one word or phrase
which best completes the sentence.

136 -Some disease are difficult to diagnose immediately, mainly due tothe
............... property of viruses remaining in the body for a couple ofyears.

a .unpredictable

b .virulent

c .uncharted

d .dormant

137 -The health inspectors are ... cleanliness/in restaurantkitchens .
Restaurants have to meet the hygienic requirements,

a .inattentive to

b .obsessed about

c .oblivious to

d .prejudiced against

138 -The food industry adds a chemical substance to food to prevent itfrom

decaying . This contributes to it'S........cceeusse

a .preservation

b .exhibition

c .illustration

d .eradication

139 -The popularity of Alee plant rests in itS .cccceeennee properties.Doctors,
however, are still doubtful about its therapeutic effect.

a .fervent

b .detrimental

¢ .dominant

d .curative

140 -Health authorities are expected to ban medicaltreatments that
could ..ceeeeneenen. the pain.

a .eliminate b .Intensify c .Relieve d .identify

141 -People all over the world should contribute to reducing carbon............... , as
main contributors to global warming.

a .emissions b .Extinction ¢ .Omission d .excursions

142 -Too many people these days are not active enough to secure theirphysical
health; they have virtually adopted a .......ccucc... lifestyle.

a .sedentary b .Dynamic c .Beneficial d .prosperous

143 -The pressure of a highly stressful job can cause Nervous ............... which may

require tranquilizing drugs to calm down.

a .abstinence

b .strain

C .pacification

d .retention

144 -AIDS is considered ......ccceeeees although there are drugs which cancheck its
progress.
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a .affordable
b .preventable
c .incurable
d .uncomfortable
145 -The stomach breaks down food with digestive ......ccce... mainlycomposed of

chemical substances.

a .generations

b .accessories

c .appendices

d .secretions

146 -Certain pharmaceutical substances tend t0 ......cceeeeees the paineffectively and
produce some relief.

a .sacrifice \

b .alleviate

¢ .mandate

d .exacerbate

147 -She iS .eeverureneens a serious illness and will soon start work.
a .aligning whit

b .recuperating from

c .predisposed to

d .overwhelmed by

148 -The ...cceeenee. showed that the corpse had a stroke.

a .biopsyb .Autopsyc .Prognosisd .diagnosis

149 -The news was so unusual that she immediately......ccc.....
a .passed outb .Passé d-byc .turned ind .turned out

150 -He was @ .....seeeeeeas man weighing over 200 kilograms.
a .complacent b .Pesky
c .twiggy d .Corpulent




